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2w 2712 2018 (HH|) 20184 108 (= 4I) 2019'4 108 (= 4I) 2019'4 108 &g
TEZY SEZUE YUY FUBUE FEIY FUSIW | +EIY FEZUE FUSY FUSUE =34 U™
1 U= 35,085 48 16,138 17.3 30,126 13,215 28,084 -6.8 14,207 7.5 2,964 1,214
2 o= 16,746 316 923 9.7 14,043 746 11,000 217 375 -498 1,046 33
3 == 7,575 -24.3 34,076 8.8 6,510 27,959 6,705 3.0 34,035 217 1,110 3,397
4 =] 7,787 -10.0 4,457 2.1 6,367 3,941 6,448 13 3,735 5.2 660 651
5 a2 7,567 113 89 -45.8 6,152 86 5,148 -163 133 53.6 350 1
6 H E 4,776 -534 26 -80.7 3,965 25 3,949 -04 59 1328 454 26
7 53 5,100 -385 577 28.1 4,403 429 3,443 -21.8 774 80.4 248 28
8 [l 4,215 252 219 -50.4 3,491 200 3,188 -8.7 269 34.1 287 7
9 Gops 3,918 -4.6 7,439 15.7 3,453 6,601 3,185 -7.8 6,040 -85 259 489
10 DA 4,697 28.6 1,895 -14.4 4,015 1,572 3,138 2138 1,131 -28.1 255 94
A 97,466 65,839 82,525 54,774 74,288 60,758 7,633 5,940
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o 2740y 2018'A (T H|) 20183 108 (%4I) 20193 108 (54) 2019 10¥ =Y
+E3% $=3UE U= FUSAE $£E3Y $UIY | £EIY FEFUE FUIY FUSUE 3% FUIY
1 == 4,338 16 80,154 39.7 3,929 71,344 6,218 58.3 58,976 173 525 1,972
2 22 6,465 -482 233 17.8 5,896 169 4,560 =227 206 222 215 4
3 o= 3,068 -36.8 11,766 -14.4 2,375 10,899 3,004 26.5 8,827 -19.0 237 487
4 ArtmE 1,159 59 149 -109 980 148 1,977 101.8 77 -478 131 1
5 U= 2,150 162.2 11,522 -89 1,918 8,533 1,674 -127 6,795 -20.4 26 358
6 ol 1,120 -312 1,417 -459 915 1,303 1,665 82.0 1,235 5.2 102 111
7 = 1,645 1537 132 -24.5 1,334 123 1,426 6.9 88 -282 148 4
8 mata 533 -27.0 6,462 62.5 439 5,275 1,164 165.0 2,465 -533 97 42
9 FHLtCt 1,523 126 19 139 1,346 18 771 4238 1 -412 47 1
10 O|Efz|ot 1,262 83.0 79,975 15.7 1,133 67,554 686 -39.4 53,927 -20.2 37 3,659
A 23,263 191,829 20,265 165,366 23,145 132,607 1,565 6,639
E= ZHEANX
s 274y 2018 (T H) 2018 108 (*+-A) 2019'd 108 (*+A) 20194 108 <3
TE3Y $EZUE FUIY FUSUE $3Y  FUIY | FEIY FEZUE FUIY FUSUE +53Y FUIY
1 == 62,252 337 186 11.0 50,114 129 51,599 16.6 728 4843 6,652 60
2 u= 39,606 2.3 3,985 -35 33,045 3,378 33,238 10.6 3,016 -0.9 3,763 181
3 Ef = 12,586 -19 - 100.8 10,465 - 9,365 1.1 - 54.7 1,704 -
4 Ap-C|of2tH|of 7,437 8.3 2 -91.7 6,631 2 8,327 410 - -5.5 440 -
5 22 7,674 68.9 4,530 3823 5,878 3,603 7,004 455 4,734 51.7 875 615
6 QI = | A|OF 5416 229 925 -0.5 4,642 729 6,469 58.5 647 145 918 414
7 =g 7,408 -16.0 7,731 71.7 6,237 5,447 5,325 5.1 4,861 24 556 591
8 F0IE 5,793 2211 1 -88.7 5,180 1 4,601 -8.1 - -57.6 264 -
9 Zr2j|of Aot 6,270 10.1 979 -24.0 5,194 926 3,795 -16.7 234 -63.0 119 101
10 2{A|OF 3,885 20.7 1 -98.9 3,573 1 3,235 03 1 34.5 585 -
Bl 158,327 18,340 130,959 14,216 132,958 14,221 15,876 -




